[ normalized x? probability |

104 0.03
. T 002
10 .(75594
[ 0.02
10_35_ ' 0.5458
E . : 0.015
107 i Qi
0.0
UM S 1| B A 0.005f- -3+
LF : s : Lo
:‘:"‘Hll'n i ik
14 = ||” i ‘\i |"| | "'|
itk
et it H' Hu" i ﬁw"hi'””"
Ot o 1416 1520 0'90 0. 0.3 0.4 05 0.6 0.7 0.8 09 1

X2 Prob(x?)

mmme= DQM_TT_original_time2
s DQM_TT_modified_time2
wmm DQM_TT_modifiedINIT_time2

1.8F

< X2/ ndf >

1.6}
1.4

1.2F

i

Ratio

< X2/ ndf >
< X2/ ndf >
=
00

i
T T[T [T [T T I [T TIT T

Ratio
Ratio

101 1 10 10? (0 107 1072 107t
F}T AR(track, jetg)



	Contents
	Page 1


